SHAFEE4R 1 REARERSFOARIRRICONT

DIAFEEDAR LREZB(CBVWTHRELOIZEDR TEHTYT . NEED 1 ROBERANEEEADIEIRERDEFTOTIFARE

SETVRIEEET, Feo AFREDNVRIOIEBECOOVTIEZEERULSETVREEET, 830 REUBE . [BRIEALICEIDRELE
7,
ABRIRRPIEZEEECLIOTEBULEFINOT. SEELTITEIZEV, (BEARISHB3EI10821BEFR0EDERDET, )
1 Be{REM
B 0% 1% 28 3% am 5i%
o mE % 10 5 3 7 7 8
£ 24 35 39 30 ZEERL 34
e Ay 12 12 0 1 2 0
ey 36 34 N RE Y
PO EE A 13 9 8 2 6 0
ey 24 40 24 ¥NH | oW
. BEAH| 9 12 1 5 1 0
ey 34 32 | muEAL | 32 | mEEAL
Har EE A 12 16 5 9 2 9
ey 2 9 35 e 39 36
JANT EE A 10 10 2 2 0 0
e 40 40 40 42
e se | 21 14 3 1 0 2
e 25 40 40 IFAR ZEELL
o0 mEAS| o 9 6 1 1 0
e 35 40 35 AW | mEELL
o mEAS| o 6 1 0 0 1
e 11 34 AW | mEELL ZEELL
PA—qE— BE A 12 8 3 3 2 3
e 26 40 36 | REEAL | FAM | HEELL
. BEAZ| 15 6 10 1 5 2
B | oM 36 38 AW | mEEAL | HEELL
Lo ECIET 9 6 6 0 0
e 38 40 40 2%
s mEAS| o 8 5 0 5 a
e 37 | muEnl | FAH ZEEOL | HEBHL
[P BEAH o 3 2 1 0 0
e 40 41 41 N
rson mE % 6 5 1 1 0 1
e 38 40 N T ZEERL
BETS SE A 10 6 4 7 0 0
e 40 41 a1 | mEELL
EOE7YS1 A 4 3
e 24 20
DUDU>T SE A 8 5 1 1 0 0
e 25 40 FNM | LW
I mE % 6 13 1
e 37 32 e
o =Y 1 2
e 11 N 40
e g% 6 9 3 a4 0 1
BEEBEE = 20 20 a1 25 FEERL
oELECS SE A 6 4 0 0 0 0
ey 40 40
. SE A 6 2 3 1 0 0
REAE00 = 10 a1 25 ENT
A SE A 5 5 1 0 9 10
SIS H ey 33 38 e AR | ZEELL




